» tVONE

We Engineer Confid

ONErack extra power
Installation Guide V1.30

MNL-1RK-XTRA-PWR-V1.30

Mar 2019






In this guide

In the box

Installing the voltage selector .................................
Fitting the guide railsand dock ............................. ..

Selecting the voltage, connecting cables and mounting
devices



In the box

1 voltage selector

1 daisy-chain cable
L ——————— |

1 rear dock:

Without bracket, or with bracket

L= -]

3 power connectors
2 M3 screws, black
& gunmm

3 M4 screws, silver

@ guum

o In the unlikely event that a component is missing or damaged, please
contact tech.usa@tvone.com or tech.europe@tvone.com.

Tools
Phillips PH1 crosshead screwdriver

Pozidriv® PZ1 crosshead screwdriver

1 tvONE



Installing the voltage selector

o To avoid damaging your ONErack, build it in a clean, tidy area and
protect against electrostatic discharge.

1. Position the voltage selector in the corner of a module so that
the tabs sit in the holes.

777 I NN
NWNIN7ZZZZ I NN
V77774 | RN | 077777,
I O

3L

NN | 477722 TSI

LI NN||Z
NN [

2. Turnthe module over and screw the voltage selector in place
with three M4 screws.

MNL-1RK-XTRA-PWR-V1.30



Fitting the guide rails and dock
1. Slide the module into the groove in the guide rails.

===

2. Screw the module in place temporarily with one or two M3
screws.

3. Atthe rear of the chassis, push the dock into the voltage
selector.

If you have a dock with a bracket, use the slot in the bracket to
help you align the dock. If you have a dock without a bracket,
push the connector on the dock into the connector on the
voltage selector.

4. Screw the dock in place with two M3 screws.



Selecting the voltage, connecting cables
and mounting devices

For further instructions on connecting and mounting devices on the
module, see the Installation Guide for ONErack modules
(MNL-1RK-MOD). The guide is available from the Downloads tab at
tvone.com/onerack

Contact us

@ tvone.com

&info@tvone.com

& Support NCSA: tech.usa@tvone.com

& Support EMEA: tech.europe@tvone.com
& Support Asia: tech.asia@tvone.com

Information in this document is subject to change without notice. No part of this
publication may be reproduced, stored in a retrieval system, or transmitted in any form
or any means electronic or mechanical, including photocopying and recording for any
purpose other thanthe purchaser's personal use without the written permission of
tvONE.

Copyright © 2019 tvONE™. All rights reserved.

Registeredinthe U.S. Patent and Trademark Office.

MNL-1RK-XTRA-PWR-V1.30



CAPTIVATE your
AUDIENCE

The
best technology
for creating
eye-catching
visual experiences

> (VONE



